REER KHE
55 18[E SRADAT[E 1L - 13 31 15 F AR P L B B BOE FAE

FFOLRESY L #i

BF
B F—Ls aea HE  200m  400m  800m 1500m 5000m 110mH 400mH 5000mW 4x100mR 4x400mR EE Bt EE=Bk EEBE =B iy HEBE -1 PYk
100m
1 23 1445 2+4+7  6+4 8 8 3+6  7+5+6 3+6  8+7+6 8 8 0.5 2 7+1 5 6+4 7
2 FEIEEE 83 3 8 4 1+4 6 5 6 3 4+7+3  4+6 2 2+8 7
3 JbE 60 3 8 2+5 4 5 5 7 8+5 8
4 B 53  6+1 6 8 5 7 7 7 1 5
5 B 45 8+5 1+7 5 6 3 5 5
6 BEXE 42 2 8 7 1 8+6 1 7 2
7 kil 345 2 7 1 1 8 3 0.5 6 4
8 AR 34 5 2 2 7+5 1 4 8
9 BHE 33 6+5 7+3 5+2 1+4
10 Afl 22 4 4+8 6
11 b 19 3 2+3 3 8
12 & 18 2 4 4 2 2 4
13 IEIFEF 16 6 4 6
14 A3 14 7 3+4
15 1L 9 6 3
16 Jt&EH 8 8
17 FEE 7 7
18 #&2)1| 7 5+1 1
19 &4t 6 4 2
20 £% 6 1 2 3
21 W5 5 5
22 REART ke 3 3
22 #EER 3 3
22 FREEEE 3 3
22 B0 3 3
26 M5 3 1 2
27 BB 1 1
27 WLk 1 1




REER KHE
55 18[E SRADAT[E 1L - 13 31 15 F AR P L B B BOE FAE

FFOLRESY L #i

ZF
B F—Ls aea HE  200m  400m  800m 1500m 3000m 100mH 400mH 5000mW 4x100mR 4x400mR EEBE EE=Bk EEBE =B iy 8BS ov-1% PYk
100m

1 23 141  7+6  1+7+3 7+8+4  2+5 7+8 7+4 6+5 5+8 8 8 7 8+7 3
2 FEIEEE 121.75 3+8 8 6 3 2+3+8 1+6+2  7+6 7 7 025+45 4 146 7+4+6 7 5
3 EN 63.25 3+5+2 7 6 6  2+8+0.25 2+7 8 7
4 R 58.25 1 1 5+2+8 4 3 2 4 7+025+6 5 4 6

5 i 45 8+7 5 3 5 5 3 5 4
6 JbiuEiE 35 2+4 1 3 2 3+1 5 6 8
1 EBEXE 21 1 6+8 6
8 AfEhl 20 8+5 5 2
9 EHE 18 3 2+7 6

10 &4t 17 4 6 7

11 Fk5 15 6 1 8

12 & 14 2 4 8

13 LUk 10 6 4

14 EIHEF 10 6 1 3

15 1L 8 8

16 [M][5 7 5+2

17 1w -BEE 6 5 1

18 gl 6 4+2

19 AR\ 1% 5 5

19 T¥ 5 5

21 REHFRR 5 4 1

22 Bkl 45 45

23 WA I ¥R 4 4

24 BB 3 3

24 & 3 3

26 85 1.25 1 0.25

27 1 1




